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Sre (t) = S() COS[]/ (erOt + prOtp )] 01210
8 (8) = =Sy sin[y (G, xt + Gyt )] 0 12-20

00oooo0dosptiooooioooodsJt0oodoiooiooonoiooty 0ooo
ooocGUOOO0OGUOOO0O00000OOYread out00000000DO00ODOODOOphase encodel O



166 —— MRIOOOOOOOO

k, ky
AT 7
s
7 L7
7 -
© k, y k,
012-1 0 12-2
kDOOODODODOOOOoODOoOoooooo g00oo0ooooooooooooooo
Ooooooooooooooooon gooono
oooooa
ky
X/
7.
— >
ky

012-3 JUO0O0OO0OKOOODOODODOOODOOO
obobo0oooooobooooboobo20000
gobooboogooboon

0000000000000000000000100000000000000000x00000
000000000000 y0D0000000t000000000000000000000000
000000000000000000000000
200000000000000000000000000000000008000000000
00100x0y000

x, =x,c0860 + y,sing
{ e Yo 0 12-300

Y, =—X,sinf + y, cosf
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S,. (1) =S, cos[y (G, xt + G,y ,)] 0 12-40

Sim () = =S, sin[y (G.xt + G,y )] 0 12-50
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x, = X, cos n@ + y, sin n@
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s, (1) =S cos[y (Gx t+G,y,t,)] 0 12-70
Sim(B) = =S8, sin[y (G x 1 +G,y,2,)] 0 12-800
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x",o =X, cos(nv, -TR)+ y, sin(nv, - TR) 012150
Y"0 ==X, sin(nrv, - TR)+ y, cos(nv, - TR)
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x", = x, cos[n(0 +v,-TR)]+ y, sin[n(€ +v,-TR)]
y", =—x,sin[n(0+v, -TR)]+ y, cos[n(0 +v, -TR)]
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s,,(k,m) = cos[2x mx42.58x10° x(0.12x107* x2.0xkx10™*
+mx0.012x107* x1.0x1x107)] 0 12210

s,,(k,m)=—sin[2x 7 x42.58x10° x (0.12x107* x 2.0x kx107*
+mx0.012x107* x1.0x1x107)] 0 12-2200
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x,=2.0cos(nz/8)+1.0sin(nx/8)
y,=—2.0sin(nx/8)+1.0cos(nxz/8)
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x, =(2.0+0.2n)cos(nx/8)+(1.0+0.3n)sin(nx/8)
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x,=2.0cos(nn/8+3.0n7z/180)+1.0sin(nx/8+3.0n7/180)
vy, =—2.0sin(nz/8+3.0n7z/180)+1.0cos(nz/8+3.0nz/180)
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